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Note : Answer questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

1.

Each question carries 20 marks. 2x20 =40

(a) What do you mean by the term ‘utility

function’ ? Explain with diagram, how can
utility function be constructed with

indifference curves. 8

P.T.O.

(b)

(a)

(b)

(a)

(b)
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State with illustration the various steps
involved in solution of the constrained
optimisation problem for optimal
quantities of the two goods X and Y by the

consumer. 12
What 1is an isoquant ? Discuss its
properties. 10
Given the production function :

=20 x06 02 03

Find the rate of change of ¢ with respect to
x, vy and z. 10

Explain with 1illustration the relation
between the average cost and marginal
cost. How is it possible that the marginal
cost continues to rise while average cost
declines ? 10
A firm produces two goods, with output

levels ¢ and 0,, and faces the total cost

function as follows :
TC=45+125¢,+84, -6 g3
+08¢2+1.203

Find out the two relevant marginal cost

functions. 10



4.
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(a) Discuss the properties of a profit

function. 10

(b) A firm has the following total revenue and

total cost functions :
TR=3209-20?
TC=1800+50q+3¢?
where 1800 represents fixed cost
component. 10

Determine the level of output that would

maximise profit earned by the firm.

Section—B

Note : Answer any four questions from this

Section. Each question carries 12 marks.

4X12 =48
What 1s consumer’s surplus ? How 1is it
measured ? Give illustration. 4+8

What is Cobb-Doughlas Production Function ?

Discuss its properties. 4+8

Explain the concept of economic efficiency. Is it

same as Pareto optimality ? Give reasons. 4+8

P.T.O.

10.

11.
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Do you agree with the statement that
‘Walrasian equilibrium is Pareto optimal ?

Give reasons in support of your answer. 4+8

Discuss the relationship between the
marginal rate of substitution and the marginal
utility. 12

State the law of diminishing marginal utility.
Find out whether the law of diminishing
marginal utility holds for both goods A and B in
the following utility function : 6+6

U=A06pRg08

As the interest rate rises, does the inter-
temporal budget constraint become steeper or

flatter ? Give reasons. 12

Section—C

Note : Answer both questions from this Section.

12.

Explain any two of the following : 3x2=6
(1) Discrete good

(1) Expansion path

(111) Concave function

(1v) Expected utility
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13. Distinguish between any fwo of the following : BECC-105
3x2=6
(1) External Economies and  External hell TR (31 ”i ) (34'9:"91@)
Diseconomies
(stusdEiue.)
(1) Homogeneous production function and
Homothetic production function AT udrerr
(111) General equilibrium and Partial
equilibrium few@w. 2021
(iv) Isoquants and Isocost line . 3 ' @-105 : geHadr e ordvrE-I
qqg ;3 g2 iRy 376 : 100

e : g% @IS G f7d 7 (E9=ER 99+ % I
IS

TUS—h

Jic ;39 @Wue § fe=sl & g & I <ifswl

T&F GYT 20 3AF HT 2 2 x 20 = 40

P.T.O.
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(37) IWME Fod 9 3 R 992 @ ?

()

(31)

()

ey gfed =aren wifse fo  dexemn
IRl & BN YAl wed o1 for fee

g TR ST 9ehdl 2 8

fordt SusieT &0 < g% X dem Y i
ey HET fAuier B9 wfua

IFhAdH HHEN % GHIYE H  giHfoad

faf= =on =1 3<Ew 9feq saEdl 12

UF GHURE o% N Bl & 7 SHH!
faeroaist =1 ==t *ifsml 10

fea U IERT weA

q =20 x06 y02 703

@WWWx,yHWz@Hﬁq@Qﬁaﬂ?
i T A HifaUl 10

P.T.O.

2 3
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(37) 9d F du @HN @R % "

()

(31)

()

Y i IR0 Gied AT hifsd| I8
9 e ¢ fr @ sl o sed @
@ T @ 7 e S @ar e 2 10

Th FH g qA , SURA TR & §YI A

TSN T IR HLAT € qUT SR Hed
NG e 39 TR €
TC=45+125¢,+840, - 67 3
+08¢3+1.203
SEH ¥ T W @ra ®edl Sl A
e 10

Th oY Hod i faguaet &t ==
TS| 10

freft &6 & wd AW T A FHd
AN oM 39 TFR © ¢

TR=3209-2¢2
TC=1800+50q+ 30?2
ST T 1800 fEer &M & Fard 2

39 IR W w1 Ay wifse g w
T Aferay oY U S| 10
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gues—d«

qJic : 39 @ve 9 &=l a7 g & S <ifsu

T&F G 12 3AF FT 2 19x4 = 48

5. IqHEl HI F9d F T 2 THR] OO R9 YHR
frar S & 2 e |igd sl 4+8

6. HA-STAH IQRT Hod N B T 7 THE!
fagroarst =t ==l sl 4+8

7. 3TfSer TeIdr ki SAAHRUN hi SAAT HITST| =
T2 WA sHFadadl S 81 § 2 wRu A

4+8

8. T MY =TT ¥4 ¥ WeAd © T ‘oeridad
e el S dadd el ' 2 A9 S| B
g 4 R0 | 4+8

9. HHr wfdeeryd =X den e Uil & o9
T W =l hiTeu| 12

P.T.O.
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10. BEEE o YA & 99 & sqEd =9

g9 &1 719 Sitew foe fFefafeg sareT wea °

A T B TA ol & fau wed ' dimr
ST &1 g @ g ® e 6+6

U=A06pRB08
1. ¥ &N W 984 & 1Y, I<-TEfde deie
(Inter-temporal budget) EERIE | (constraint)
afuss  @oTal  (steeper) AUl AfUEH  =US

(flatter) 81 ST & ? RO S| 12
QU1

qig : 39 @Us ¥ S 99l & S SIfSu)

[—

2. fefafed 5 9 f&=l 2t =1 = sifae
3x2=6
(1) 3AYdd 9% (Discrete good)

(11) faear Ty (Expansion path)
(111) 3ddd ®eld (Concave function)

(iv) T ST (Expected utility)
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13. Fefafed § @ f&=f 2 & &= =R 9dsd
3x2=6
G) e faaeraae qon 9@ SAfhdeaad

(i) THEAE IARA o aul gaesifas I

EIGE
(iii) GHET Gdod do e g=ie

(iv) FEICAE o6 q GHANTd @l
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